1/0do/dT

=
o
W

MC /Data
RoR R R

PC PO O muE Et
(TN [ITE e CEVEE N

Thrust, udsc events, at Ecpg = 91.2 GeV

Ty rrrryrrrr T T T T T T T T T T T T T T T T T [ T T T
\ \ \ \ \ \ \

—+— Data

gF¥=.3.0 LO © Dipole

Hw 7.3.0 NLO ® PS
Hw 7.3.0 NLO ¢ PS

—+— Hw 7.3.0 Merging

—+— Hw 7.3.0 NLO @ Dipok

—t— Hw 7.3.0 NLO® PS

—-+- Hw 7.2.0LO & PS

| —+ - Hw 7.2.0 LO & Dipole

: —+- Hw 7.2.0 NLO®PS

| Hw720NLO PS

\\‘\\\\‘\\\\\\\‘J&J‘_ ‘

| \HHH‘U’\ L 1Ll

[ \MH‘

L1 ®u

S
|
=3

|

|

I

|

it

|

+

|
T

=

N

N
04C

[ I\ Z =
—
@)
@
~
"U
HH‘HH‘HH‘W‘HH M

[ ]

_{+
_[l

J-H\‘HH‘HH‘HH‘\H\ HH‘HH‘HH‘H

06 065 ©07 075 08 085 09 095

(72}



